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2x + 2y = s

P(x, y) = x · y → max .

"� 2x + 2y = s ���	
��y =
1

2
(s − 2x)� � � 	


x · y =
x

2
(s − 2x)�
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P(x) = −x2 +
s

2
· x.

* ��	
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�
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x = −
b

2a
=

−
s

2
2 · (−1)

=
s

4
.

� � �� 	
 y =
1

2

(

s − 2 ·
s

4

)

=
s

4
�+� ��
��� 	�
�
�
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s

4
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s2
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	� � �������� � � �� ��������� ABCD ��	��
 � ������� x

����	��� y���������� �� 	
�
�� CBE � � ���
 	
��
 x

�

���� ���
 8� �
�����	�
 9 ����
 ϕ� '���� �� 	
 ��

�
 �
���
��� 

���� ���� ���� ϕ 8
 	
�
��� � �� ��	� �

��
 � 9 ���
��	
 � � �
 ��
� �
 	
�� �������� ���� l �

� ���
 	
�� x �������

��	�ϕ =
l

x
⇐⇒ l = x · ϕ�

'�
�� �� �� ��
 � �� 	
 0 < ϕ ≤
3π

2
8��� � �
��

� �� �� ��� ��
��	
�� 	
 �� ��� 
 � ���	
���� �
��� � � �	


� �������
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�� �� �������
 � �� ��������� 9�

* � �
� ���� 	
 s = 2x + 2y + x · ϕ ���� ��
 ���	
��

y =
1

2
(s − 2x − xϕ). (1)

'�������� �������� �� 	
�
�� CBE 	

ϕ

2π
·πx2 =

1

2
ϕx2�

� � �������� ���� �� ���1	


P = x · y +
1

2
ϕx2

(1)
= x

1

2
(s − 2x − ϕx) +

1

2
ϕx2

=
1

2
x(s − 2x − ϕx + ϕx)

= −x2 +
s

2
x.
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��	��	��	� * ��� �
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 �� � �� ���6��
�� 	
 0 < ϕ ≤
3π

2
�* � �
� ���� 	


s = 2x + 2y + xϕ + yϕ

= 2(x + y) + ϕ(x + y) = (2 + ϕ)(x + y).

* �� ��
 	


x + y =
s

2 + ϕ
(2)

�

y =
s

2 + ϕ
− x. (3)

'�������� ���� 	


P = xy +
1

2
ϕ(x2 + y2)

= xy +
1

2
ϕ[(x + y)2 − 2xy]

= xy +
1

2
ϕ(x + y)2 − ϕxy

= xy(1 − ϕ) +
1

2
ϕ(x + y)2

(2),(3)
= x ·

( s

2 + ϕ
− x

)

(1 − ϕ) +
1

2
ϕ

s2

(2 + ϕ)2

= (ϕ − 1)x2 +
s(1 − ϕ)

ϕ + 2
x +

ϕs2

2(ϕ + 2)2
.

(4)

* ����� � �
���
������� ϕ � ��
 � ��� 
 � ����
� 	
�
 

1◦ (�� 	
 0 < ϕ < 1 ���
�
�	
 ��
:
�	
���
�� ���

�� �� � -���
�	� �
 � 
 � ���
 �
 ��

x = −
b

2a
=

−
s(1 − ϕ)

ϕ + 2

2(ϕ − 1)

=
s(ϕ − 1)

2(ϕ − 1)(ϕ + 2)
=

s

2(ϕ + 2)
.

(5)

� � �� 	


y
(3),(5)
=

s

2 + ϕ
−

s

2(ϕ + 2)

=
2s − s

2(ϕ + 2)
=

s

2(ϕ + 2)

(5)
= x.

* � 
�	
 �� ��
�� �� �������� < ��� ��� ��

2◦ (�� 	
 ϕ = 1����� 	


P =
ϕs2

2(ϕ + 2)2
=

1 · s2

2(1 + 2)2
=

s2
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3◦ (�� 	
 1 < ϕ <
3π

2
� �� �� �
 � ��� ��	
 ��

-���
�	� �� x =
s

2(ϕ + 2)
� �� ��
 � 
 ���
 � ���

���	
�����y =
s

2(ϕ + 2)
��	��� 
�	
 x = y�

1 23 45 63 7 5 6

��# 	
� 1 ���.��� ���������� ������������ �����
��+3 ,�

8� �,� � �	
� �9 � �����+# ��� ��� ���(�

��: �
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��
+6�	�� 8� 	
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